
https://www.leads4pass.com/c2090-545.html
2024 Latest leads4pass C2090-545 PDF and VCE dumps Download

 

 

 

C2090-545Q&As

DB2 9.7 SQL Procedure Developer

Pass IBM C2090-545 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/c2090-545.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

 

 

Latest C2090-545 Dumps | C2090-545 PDF Dumps | C2090-545 Exam Questions                                1 / 4

https://www.leads4pass.com/c2090-545.html
https://www.leads4pass.com/c2090-545.html
https://www.leads4pass.com/c2090-545.html


https://www.leads4pass.com/c2090-545.html
2024 Latest leads4pass C2090-545 PDF and VCE dumps Download

QUESTION 1

Given the following SQL: 

Which statement is incorrect? 

A. The procedure declarationrequires the DYNAMIC RESULT SETS 1 clause in order to return a result set. 

B. The cursor declaration requires the WITH RETURN TO CLIENT clause in order to return a result set. 

C. The cursor declaration requires the WITH RETURN TO CALLER clause in order toreturn a result set. 

D. The cursor declaration requires the WITH RETURN clause in order to return a result set. 

Correct Answer: A 

 

 

QUESTION 2

Given the following statements in an SQL procedure: 

Which of the following assignment statements is valid? 

A. SET c1 = VALUES (1, 2, 3); 

B. SET c1 = CURSOR FOR VALUES (1, 2, 3); 

C. c1 = CURSOR VALUES (1, 2, 3); 

D. SET VALUES (1, 2, 3)for CURSOR c1; 

Correct Answer: B 

 

 

QUESTION 3
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Click the Exhibit button. 

Referring to theexhibit, how many rows will be returned by the SQL query shown below? 
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SELECT * FROM TABLE(getnumemployee(21?) AS dSELECT * FROM TABLE(getnumemployee(?21?) AS d 

A. 0 

B. 1 

C. 7 

D. 10 

Correct Answer: C 

 

 

QUESTION 4

Which of the following is the simplest way to define a recordwith fields corresponding to all of the columns that are
fetched from a cursor or cursor variable? 

A. Using the VARRAY attribute 

B. Using the READ FROM CURSOR attribute 

C. Using the %ROWTYPE attribute 

D. Using the %CURSOR attribute 

Correct Answer: C 

 

 

QUESTION 5

Which statement is true about the NUMBER data type? 

A. In DB2, theNUMBER data type has maximum precision of 31; in Oracle, it has a maximum precision of 38. 

B. In DB2, the NUMBER data type is the same as in Oracle, provided the DB2 database was created in Oracle
compatibility mode. 

C. Declaring a column as NUMBER(10,-2)is valid both in Oracle and in DB2 provided the DB2 database was created in
Oracle compatibility mode. 

D. Declaring a column as NUMBER(6,8) is valid both in Oracle and in DB2 provided the DB2 database was created in
Oracle compatibility mode. 

Correct Answer: A 
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